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M753-U6538.a angol 19 20 19 60 58 B1 Megfelelt 97%

U278-R3818.a angol 15 20 15 60 50 B1 Megfelelt 83%

Q839-C2648.a angol 12 10 13 60 35 B1 Nem felelt meg 58%

E531-R1368.a angol 20 18 20 60 58 B1 Megfelelt 97%

M323-O9168.a angol 14 20 15 60 49 B1 Megfelelt 82%

A947-Q3508.a angol 20 20 19 60 59 B1 Megfelelt 98%

F779-N5558.a angol 17 16 17 60 50 B1 Megfelelt 83%

V323-X1858.a angol 9 20 18 60 47 B1 Megfelelt 78%

P372-M2918.a angol 14 19 17 60 50 B1 Megfelelt 83%

V993-E4778.a angol 18 20 15 60 53 B1 Megfelelt 88%

S427-K820 8.a angol 0 0 0 60 0 B1 n.a. 0%

G795-S7818.a angol 13 20 16 60 49 B1 Megfelelt 82%

D485-E5908.a angol 11 17 18 60 46 B1 Megfelelt 77%

E342-O9748.a angol 13 10 13 60 36 B1 Megfelelt 60%

A814-F1668.a angol 14 14 14 60 42 B1 Megfelelt 70%

U713-N4748.a angol 18 19 19 60 56 B1 Megfelelt 93%

A286-D4588.b angol 0 0 0 60 0 B1 n.a. 0%

E893-U4648.b angol 10 15 12 60 37 B1 Megfelelt 62%

M724-U1188.b angol 19 20 19 60 58 B1 Megfelelt 97%

E713-K8138.a angol 7 10 6 60 23 B1 Nem felelt meg 38%

B669-A1678.b angol 20 20 20 60 60 B1 Megfelelt 100%

Q719-V9388.b angol 14 20 18 60 52 B1 Megfelelt 87%

N359-P3188.b angol 13 16 17 60 46 B1 Megfelelt 77%

A496-V2998.b angol 12 20 18 60 50 B1 Megfelelt 83%

T898-F161 8.b angol 16 18 19 60 53 B1 Megfelelt 88%

C867-M8178.b angol 19 19 20 60 58 B1 Megfelelt 97%

B591-L817 8.b angol 19 19 19 60 57 B1 Megfelelt 95%

E598-L121 8.b angol 20 18 20 60 58 B1 Megfelelt 97%

T592-X6808.b angol 0 0 0 60 0 B1 n.a. 0%

A142-D1988.b angol 17 20 18 60 55 B1 Megfelelt 92%

X458-T5338.b angol 0 0 0 60 0 B1 n.a. 0%

P749-C7918.b angol 15 19 20 60 54 B1 Megfelelt 90%

V551-V6858.b angol 17 19 20 60 56 B1 Megfelelt 93%

P637-J575 8.b angol 15 20 20 60 55 B1 Megfelelt 92%

átlag 74%

G896-G8818.b német 0 0 0 60 0 B1 n.a. n.a.

S853-T575 8.b német 0 0 0 60 0 B1 n.a. n.a.

F642-G9408.b német 19 20 20 60 59 B1 Megfelelt 98%

F223-V3498.b német 16 13 19 60 48 B1 Megfelelt 80%

átlag 89%


